
Answer 55 

 

In this triangle, with B as the reference angle, BC is the adjacent side (20”) and AC is the opposite. 

Since Tangent is defined as 
𝑜𝑝𝑝

𝑎𝑑𝑗
, that Trig function will be the best option.  

tan 60 =
𝑥

20
 

20 tan 60 = 𝑥 

The complication then, is what is tan(60)?  Recall: 

tan 𝜃 =  
sin 𝜃

cos 𝜃
 

You should also have memorized the values for Sine and Cosine for 30-60-90 and 45-45-90 triangles. 

sin 60 =
√3

2
 𝑎𝑛𝑑 cos 60 =

1

2
 

Therefore: 

tan 60 =  

√3
2
1
2

=  
√3

2
∗

2

1
=  √3 

Therefore, the answer is 20√3, or answer A. 

 


